Seed

10

11

12

13

14

15

16 5~8

17 3~4

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32 5~8

1

D:E49\ EFRA—TT=-REFHE KL by DUNLOP RTFS>DER
BFHTILR 65m Ll E

name

2R

)1 X / LA EF

Bl FE— / #K 575k

3R

)1 X / LA EF

46 75 10-8

W% 5 / BIE B

deiR S / AaA ]

62 64

dbiR S / AA ]

QF SF

)1 X / LA EF

)| 5 /LR X

SH 2/ KH R

75 67(4) 10-6

SH 2/ KH R

46 61 11-9

AR EFR/ BRI A=

16 62 10-7

B #X / BE EZH

6162

B #X / BE EZH

6162

)1 X / WA EF
16 62 10-5

B #X / BRE EZH

t2M E /ER FE

HA B /MR

64 RET

t2M E /ER FE

76(3) 46 10-8

R FE /R BEX

i 5 /R RX

61 61

75 62

BEIE/ERFE
46 63 10-5

t2M E /ER FE

EX RAl /@ FE=

ek B / =H 5

63 63

BHE /AN EE

75 63

SAUE 15 / PR B

LIS INET. C

LA BF TYF RV RR—Y

bye

bye

BRE BAmENET=RI5T
REF —% HWET=RYST

Al E— WRN—T o T7=R957
K 375h TH—T41

BE RS REBEHFO—V7=R957
HH RE BRRAYITT=R95T
bye

bye

bye

bye

Ll 54 BRI —T=R95T
AR R FEO—VT=R957
) 5 =EEIX

R X SEETIHE

bye

bye

%H 2 BET=X957

AH EER LRGPV REZBET=RY5T
BEELS MIT=RY5T

INE B SNT=RYST

XH FTE AHFALTC

B ES A#HFO—UT=RIST
Z2K EZTER B prEisess BEKS
BllA= WEIFIZ57—

bye

bye

B X BORUT=RYST
HEA EZ EAT=RYFT

f=2H I FAT=R95T
BRFE BABYAYSURTZRYST
bye

bye

ESE BAEENET=RI5T
LH % BHFIAVERTZRIST
BEXRER WEH—ToT=R957
BT & WEH—ToT=R957
Rk FEER SANT=RYST

R EX SKYTON

bye

bye

bye

bye

=k 1E RIN—GIIT=ZRYZT
=ik X FAMT=AGE

=4 RA| J\BLUA—2F=R957
7 E= HETET=R95T

bye

bye

Rl E5A AfHHFO—2T=RH57
B A#HFO—UT=RIST
&k B HLIGTC

M 5 HMHIUGTC

#RR X RET=RY5T

JUlEEPS HEAHO—2T=RYZT
BHE IXb—L

S SFRUTZRYST

bye

bye

SRHE 18 MRT=RY57

RCH St FRTC

63 61
RIR 580 / R3t B
75 64
BHEIE/ERFE
76(4) 60
{E7% i / EE P
75 63
8 15 / KB Fif
64 62
S5 / PR St
76(4) 57 10-8 WINNER

fEHE/BRFEERE/ER FE

hE B/ E 63 62




33

34

35

36

37

38

39

40

M

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

Seed

5~8

3~4

5~8

D: 88498 RFEA—TT=REFHE K= by DUNLOP

2R

LA B/ s EE

K B = / M ATK

67(5) 62 10-6

WA 2/ hE FIE

62 63

B 1T/ BE RSB

\IT BRS / MBI KA

FH M /B RE

1B FIME /KK —K

64 16 10-5

T 3h / ik B

FEKGEX /WE F

SH R— / #f% B8

W.0.

MR —h /KB A%

63 61

FE ERD / FE

BH S/ BRY

ATE SLBE / @15 &

S m—— Xr|
RTIUDER
BFHTILR 65m Ll E
3R QF SF

WA Bk / B BE

6162

AR 1T / B8R B
26 64 10-7

AR 1T / BhF B

75 60

fEBL/ BRE
26 60 10-7

WT BE / REH AE

75 64

fEBL/ BRE
62 61
fE B/ BRE
62 61
T AL / R B
76(7) 64

EKEXR/WE #E

61 76(8)

EH EER /R
62 76(5)

EH EER / R

6162

hff T8 / KIF f%

ATE SLBE / @15 &

P TS / KIE R

name 1R
IR B BRA—TT=R9357
FE EE BRA—TT=R9357
bye

bye

HT = BRAMENET=RXI5T
KEIE BAMENET=RI5T
KiE B Z RBHFO—7=X9357
M TR REHO—7=X4957
AN YoG ) =T RYS5T
5 FRE YoG) =T RYS5T
EF R BEETAYSURTZRY5D
Rt E—EB BEBTAVYIURTF=RH5T
bye

bye

B T FLUCENTFZRYST
= RSB E£FGTA

I BB FrRATC

REHF Sia EARTT=R =

bye

bye

bye

bye

FEH 1z MEI7I—T=RI5T
BERRE HMEI7I—TC
FLEZ INETFZRIEZER

B {& TSLR—=CFZRTSH
fm i #HEN—T=X957
AR —K HWAEO— T RIEEE
bye

bye

I 5h BIART=RH=

Bk E E2B8T=R9357
FKEX BYBRRYVITT=R95T
s # Ek=EH%

bye

bye

R # 5B ERN—UT=RYFT
BT 17K FrTq

%H B— BRUGE

A B FEAT=R95T

R —th BAMENET=RI5T
[RE A BHRE(FERO—VT=2557)
fEHE R1T SAHT=RYST
EXBE BRI —>7=X4957
bye

bye

FEM &R A—RBTZRYST
ik KHI A4 L

B g 73aT=RY5T

AR E 73aT=R957

bye

bye

bye

bye

HIE S B EX=E%

[E4E 1& FEAT=RH5T

RE A BET=-R95D

TN IEA *EBT=RI5T

¥t 1758 B

KIE f BIART=RH&

bye

bye

BTHE X2 FERET=-RY357T

75 61

BIE 52C / AH B—

61 61

P TS / KIE R

P TS / KIE R

60 63

A+ fe—

IR —2TFZRHST

62 26 10-6

61 60



